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1.5-8.

1.5-9,

Dic A has orange on one face and blue on five
faces, Die B has orange on two faces and blue
on four faces, Die C has orange on three faces
and blue on three faces. All are unbiased dice.
If the three dice are rolled, find the probabil-
ity that exactly two of the three dice come up
orange.

Suppose that A, B, and C are mutually indepen-
dent events and that P(A) = 0.5, P(B) = 0.8,
and P(C) = 0.9. Find the probabilities that
(a)all three events oceur, (b) exactly two of the
three events occur, and (c) none of the events
aceur.






158, Dic A has orange on one face and blue on five
faces. Dic B has orange on two faccs and blue.
on four faces Die C has orange on three faces
anc bluc on thrce faces. All are unbiased cice.
If the three dice are rolled, find the probabi:
ity that exactly two of the three dice come up,

Suppose that 4, B, and C are motully indepen-
dent events and that P(4) = 05, P(B) = 03,
and P(C) = 09. Find the probabilties that
(@)allthree events occur, (b) exacly two of the
three events occur, and (¢) none of the events




